
Painel Ômega





40min



Parafuso Phillips

Parafuso Fenda

Parafuso Allen

A
E

C



24

REF. DESCRIÇÃO

Cavilha Ø6X20

ILUSTRAÇÃO QTD.

Parafuso 3,5x14mm

Parafuso 3,5x25mm

Parafuso 3,5x40mm

Cantoneira 4 furos

Parafuso 4,5x60mm

Pistão á Gás

Puxador

Dobradiça

Passa Fio

Tapa Furo

Bucha Fixação

Chapa Metalica

Tapa Furo Amadeirado

28Cavilha Ø6X30

72

60

200

34

H

G

F

E

D

C

B

A

I

L

K

J

M

N

O

22

6

8

4

2

4

2

22

8

8

063025

COD. FERAGENS

062025

351425

352525

354025

456025

19725

34625

16725

16325

342625

16646P25

206B25

206M25

2825

LISTA DE FERAGENS

TAMANHO ESCALA 
REAL PARAFUSOS 

Parafuso 3,5x40

Parafuso 3,5x25

Parafuso 3,5x14

PRATELEIRA
Suporta até 3 kg

distribuidos 

3
KG

NICHOS
Suporta até 10 kg

distribuidos 

10
KG



23

25

M

N

L

6

01

01

01

01

01

216,2 49

216,2 19,5

216,2 20

216,2 30

216,2 30

15

15

15

15

15

04

02

01

01

24,3 30

71,8 25,8

111,5 56

111,5 56 15

15

15

15

01 111,5 56 15

1

2

3

4

5

6

7

8

9

10

01

02

02

01

111,5 56

132 5

46 5

60 9 15

15

15

15

03

08

32

04

30 9

60 9

111,5 5

50 5 15

15

15

15

01 40 50 15

11

12

13

14

15

16

17

18

19

04 30 9 1520

cm CÓDIGOS
DE REFERÊNCIA

162018151131601

162018151131602

162018151131603

162018151131604

162018151131605

162018151131606

162018151131607

162018151131608

162018151131609

162018151131610

162018151131611

162018151131612

162018151131613

162018151131614

162018151131615

162018151131616

162018151131617

162018151131618

162018151131619

162018151131620



1

2

3

4

5

6

6

6

6
7

7

8

9
10

11

12

12

13

13

14

15

15

15

20

20

20

20

16

16

16

16

16

16

16

16

17 17 17 17 17 17 17 17 17 17 17 17 17 17 17 17 18
18

18
18

17 17 17 17 17 17 17 17 17 17 17 17 17 17 17 17

19

7

A

E

6

22

24

19
E

E

EE

E

E E

E

E



8

A

E

E
E

E

A

A
A

5

6
6

6
6

E
E

E

A

A
A

5

6
6

6

A

A

A
A

C
C

C
C

C
C

C
C

H
H

H

H

H
H

H

H

6
6

6
6

4

C
C

6

4

H
H

21

23

16

16



9

E
A

A

A

A

E

E

E

E

E

E
1

1

20 20
25CM 25CM

D

D

D

1
20

4

20

22

7 J

J

J7

J

J



10

1
13 13

13

Deixar 1,5 cm 

D

D

D

D

D

D

DD
D

D

D

B
BBB

B

17 17

8

8
11

17

11

19

2

19
,5

9

(1,7cm)

Parede de
Alvenaria21

C

C

C

C

C

C

I
I

I
I

I I
C

C
C

C

6

7

6

7

7

76

6



11

7

8

D

B
B

D
D

D

DD
D

17 17 17 17 17 17 17 18

18

18

17

9

17
18

17
17

17

10

10

18

18 17

D D
D D

D

B

Parede de
Alvenaria

18

19

20
7

5
75

7

5
c

c

c

cK

KK

K
K

20

20



12

9

10

C
C

G

G

G

8

9

89

15

16

16

Centralizar

25cm

34
cm

25cm

8

9

16

16

DDDD D
D

Parede de
Alvenaria

17

18

53
cm

43
cm

68
,5

cm

Chão

106cm

46cm

46cm

o F

o
o

F

20

20

16

16

16

16

20

16

16 16

16

20

o

F F

o

F

o
o

F

o

F F

o

F

o
o

F

o

F F

o

F

o
o

F

o

F
F

o

F

o

F

o

F



11

12

13

C

G

G

10

11

C

G

15

16

16

Centralizar

25cm

34
cm

25cm

16

16

DDDD D
D

1011

10

11

16

17

16

2

3

E

E
E

E

E

A

A

A

A2
3

2
3

14

12

12

D

D

D

2
3



13

14

14

G

G

1011 89

C
C

G

1011 89

14

15

14cm

1,5cm

D

D

D

D

15

15

12 12

1011 89

D

D

D

D

D

D

D

D

1,5cm 1,5cm

10

11

8

914

1512

12

16

16

16

16

15

15


